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Read the foNowing Instructions carefully befare you begin to answer the guesfions. This Bookief contains
guestians in English as well as in Hindi.

Bafore you start to answer the gquestions you must
check wup this Booklet and ensure that it contains all
the pages {1 -24) and see that no page is miksing or
repeated and that each page has the Test Form number
primted at the bottom of the page. If you find any
dafect in this Booklet, you must get R replaced
immediataiy.
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INSTRUCTIONS TO CANDIDATES
1. This Dookle! corfairs 200 cueshors in &l comprising the
folowing four pans ;

Pan - T :(Ganeral Inteligance [50 Cueslions)
Farl - 0 ‘English Langaage [50 Cueslions)
Farl - O 2Suantitalive Aptada {50 Luestions)
Par - IV :[General Aeareness {50 Quesdions)

2 I guestions 5@t Blingualy in Engish and Hindi, in casa of

d=cragancy, the English varsion will prevail

Al quastions are comguasany ann carmy equal marks,

The papar carfas nogetive marking. 025 manks wil be dedusied

o Eacts Wy e

5. ¥au owill ba suppbac e Arwer-Shest sepamtol oy he

Fvigilatar, You mast complele and code the deleils of Name,

Roll Nomber, Ticket Number and Tesi Form NMomber in the

Anawer-Shest carafully. You moest alse sul your signatare snd

Lafi-Hand thumb imprassion on the Answer-Shest ar the

pragorioed place before you achually stad anewermg  the

questions. These irstructions mus? be fally compliied with, failng
which, ‘Yo Angwer-Shasl Wi nol ba avaiuatad. (V. HJCerabral

Palsy candidates will have to ensure that these defalls will

ba filled in by the scribe. Howevernall V.HJ/Cerabral Palsy

candidates must put their lefi-hand thumb Impression at the
space provided in the Answeor-ShestThese Y H Cercbral

Palsy candidates who can  sign  should alse put  their

signatures in addition to thumb impression,)

|6 Answess must be  shawn by complalely  Blackering  Lhe
comesponding cicles on Skie-|| of the Answer-Sheat againat th
ralevant question number by Black/Blue Ball-paint Pern only.
Angwers whiich are nol shown by Black'Blue Bei-poind Pan wi
ot e Bwanded any meark.

7. & machire wil read the codad irformaton In the OMR Answe
Sheat in case the Informetian i incomplate o different rom o
infarmation given in the applicotion form, such candidate will
amarded "ZERDT mark.

B The Arswer-Sheet must ba handad over 1 the Invigilator bed
youl lestve the Cxemingtion Hal

2 Faillure to comply with any of the above instructions wi
render & candidate lisble to such action/penally as may
deemed fit.

10 Tha marmner in which the dfferent questions ara iz be an
has been explained & fhe el of this Bookied (Page No.o 24,
which you hould read carsfully befors ackualy answaring
quEatians.

1. Angwer the quegtions &2 quickly and as carefully as you can.
Soma quastions mey be eficult and olkers essy. Do net apa
1oy miech B on Ay queastion.

12, Mo reugh work is to be done on the Answer-Bheet Blank
spsces provided af varoos places in the guastion bookl

o

off mode, in thelr awn interest. Failing to comply with
provision wil be considersd as using unfair means in
mmwam-ﬁlhmmmﬂm
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Part - |: Goneral Intslligenca

=N TS =

e et

Part - |: General Intelligence

WY - |: T g

"1]- From the gaven altermative ".\-I_Il:di., sclect the wimd which

cannot be fonned using the latters of the grven word

e s P & & o o T, R T e

Hardt & wde ek A T ST BT

HARBINGER
A) GARDAGE B) RANGER
C} DARRING D) GABNTR

2} From the given alemanve words, seleet the word which can

be Formsed Uhi:lﬂ the letiers of tie giuﬁL weprd!

e fweat & fag o o, S ftrar s

ST ST ST 3R WA S R
ENDEARMENT
A) TEMPER B) MEANS
C] TENDER D) TENT

3) If BOY is reprosented as 42, then GIRL 18 represented as:

T BOY 42 F T H FE A E A GIRL R v

HET ST
A) 46 B) 48
C) 40 D) 4

Question Nos.4 ta 12

T AR A F 12 8%
Directions / IT4n Selzal he related word 7 lalters ¢
number front the qiven altermalives.
oo e Frgeof & 2 By s s ent s maer w1t

g

d) 6:ar-s5:y

Al 4 B) M
c) 35 D) 45

5) Hockey: [ndia:: Baseball ;9

Bl ; BT0ETT ; dHEI ;7
Al sarmrae et B Rusiew
C) Austalia f 3EERET D) China /et

6} Anl: Fly : Bee :: Hamster : Squirmel @ 7
fer ; et - g - e M

Al Rudent  Fae
C o Rawell

B) Mouse #=gT
D) spicer r wedt

Th 445 q9: 7

A) @
gy 1l

8) ABDE - GHIK = MNP ?

A) RTLUW
C) CEFH

9} ACE; GIK ;- MOG ;7

A) SUW
C} RTU

B) 0
oy 9

B} STVX
D) RSLV

By vxz
o) sTU

10) GNIDAER READHNG - MOITULOS 7

A} =olunot
C} Pollution

11) brick - Wali = Cell =7
iE:FfIT:I'IT: E=r

A) Cxlaroshyil / FRRTES

€} puasdru

12) 21:3.:574:17

A) 3
c) 113

Bj MNaotosut
D) Solution

B (regans ¢ 19T
D) Tissue ) 3

B) &
D) o7

=Y

Question Nos.13 te 21

FREETFiAIE A aF
Directions / R Fina the odd word ¢ letters / number
nair from the given altermatives.
féw oo vt & & B g/ e J wEwr IR

13)

A) GLovEs, sraa
c) SHAWL ) 2Me

14)
A) poRTRAIT B (D
Lo
C) parvr ST Fow

Bl swraTFR / #de
D) \MBRELLA! Tad

Bl praw ) sseraea

D} SRETCH /T wemem
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Part - I: General Intelligancs

W - b AT R

15)

A panD g B) wosg rare

©) mMouTH HE O Eves, s
I@ |. by

Ay 6:31 - B} #:15

C) 13:40 D) 15:46

17)

Ay 21 B) &l

¢y 7L D) 51

18)

A) HNOP B) VUTS

€) ROPO D) HGEE
@HET Q37 N OP K2

A) B) c) D)

20)

JAYLog B) 125

c) 43 D) 216

21)

Pl
&) VKB B) PSV
C) DHK D) FIL

Question Nos.22 fo 25
T FEIT 22 B 25T

Directions / A9 A series iz given, with onetwo term
missing. Choose the carrec! allernativa from the given
ones thal will complela the series.

o wgwer o & S veet a g &) o Be
o fEwet & & oy Prey gRd st o
1

a 7 —=
22) ’ﬁ.z.t):f.ll. g

A) 6, 15 B) %13
Prgy 8,24 D} 13,15
23) ADHMSZ
A) T B) W
) X D) Z

24) 1,028, 15,7
G
Al i] ; By 2
&y 24 D) 25
25) ACEZXVGIK 9
}a&,:_m GIKTRP?
A} M B) N
¢y 0 D) L
Question Nos.26 to 28
T FEAT 26 § 28 @

Directions / AW Select the missing number from the
givan responses.

BT av et & # g A5 w7 &y

TN N

A) 12
C) 6 u: u
27
T
ﬁl

A) 38 B) 45
C) 54 m) 42
28)

A) 60 B) a5
C) 3 I:I] 55

29} Ina ling, Marash is 17" from the left & 22™ from the nghs
How many stadents are there in the line?

o AT R T f o b v et A
2 F T o #) o & oo et Teed £
A) 40 JH s

c) 2 o) 37
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Part - I, General Intelligence

T | TR e

30) Some eguations have been sobved on the basis of certain
systemn.Find £9e correct answer for the unsolved cquations on
that basis?

T R & HEN 97 g TH R o e o T Ean
1 S8 AW 9 3 FHIE 3 T Ieae e e
™ A e o

I8 T2 10 <23, 1% x 48 = A5 and ¢ HIT
Iox43=1Ethen /aT39m22=1

A 27 B) 51
c) 3 D) 21

31) Which one set of letters when sequentially placed at the gaps
in the given letrer scries shall complese it?

HET W FIA-IT WHE St T 9T FEeR T i
& T WER AEET S 9T T

ab_cba_beo aabech bocha
A) obac B) ceaab
C) cabaa D) abcab

32) From ihe given soswer Ggures, weled the ooe mowhich the
guesizon fgere s dden/embedded

2% T TEe AT B I T wE e W e e
T AT RREE Y

I

| |~ | \\ | | |

A) B) o oj

33) If LISTEN is coded as 393417 then SILENT is coded a5,
BT LISTEN $1 593417 Srdteper far smesm o SILENT

=Y T ey e B s
A) F9IT3 B) 351754
C) 591741 D) 195174

34} What is the hest way woorder the progression in Hardware?
m#&mmmaﬂwmﬂmw?
| Silicon chipe / Taferafer P 2. Transistors / FfoFEeT
3 ‘-facuum tibe  FEE AEC 4 !:r'u:gtalx:d circuits ¢ DEaE T
e

A) 34,1,

ﬁ Of the 5 tewns ABCD and B sitwatad closs 10 eich other. A

is 1o the waost of B,C i to the south of AE is to the nonh of B
and D s 1 the east of B, Then © i in which dirsction with
respect to [¥7
ABC DT E v S wE g W e TR g
T OB A T ¥ O B & 9 aw ff ¥R RaE E o =
#ag A & aEw F g 5 v | i o
FIHAEAND e S @ A A aaw oo
F s A cRRRinra i

A} South-west S

i afie
€) VorthBas ) TR

B} Moeth-West / STET-qTH

D) gouth-Fast ! ZfEogd

36) Earhik ravelled 3 Km cast, then took & right and ravellad 4
ks, How far is e froan starting poim?

FTei = O e i AT 3 fE AT g Fr iR S8 arl
s Em i i m oA g mer g e g
FH AET AH

Al 12 Kme s B
C} 7 Kms/ ferlr

B) 3 kome/ Tl
B} 5 ks, fETl

37} Find the ramber of tiangles in the following figure:
[RrATaT@a srpia & ! ) dear awrd el

£

I 3

B 14
D) 12

A) 8
€ 1o

3B) Find out the set el numbens pmengs: the four sets of numbers
civen in the alternatrve which is most like the set given in the

Guestion.
et T T ST & A e B U s Fan
B WA e 9 A i 8w vinE B
(12,2448
A (15, 45,900
C) (04,28, 152y

B) (10,25, 100)
D) (13,26, 169)

By 4.2.3
D) 3,24

LU L

C) 413

T BPICIE, 394344a

& TG
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Fart - i Genaral Intelligencs

W = |: FrETe gl

Question Nos.39 fo 40
P FEAT 30 & 40 AF

Directions / B&w: Onedwo stafement are given, each
foffawed by lwo conclusiondassumption, | and I You
hrave fo consider the slalemend o be frue sven if they
secm fa be at vardance from commonly known facts. You
fave 1o decide which of the given canclusion’
assumptions, if any, fallows from the given statements,

rmet wae Bv o £ e anet gt BemlyeiaE |
vl B e § sremt A R wuw Ao &
o SEd AT, A et & e aehe ger
il g} st ol aweT & e v e/
guigwr & & wiear ¢ FER St &5 J wle s
o ganr ol B o wwEar £ wwd £ wE
i

) Sttement / Faw
Continuous training 15 essential for all employees toincrease
their produstivity.

wE St F1 TTEE aae & e G
b1 e e ol

L ‘Training is an cssential component for productivity,
IEEEA & AT ST UR WIS TS B

IL. Profitabilizy dr productivity are supplementary to ¢ach
ocher

AvEsr ¥ IEEEaT T EE & T

A} Onby assption 11 iz B) Meither assumption I nor

implicit. 1T are: amplicil.
efrene 1A
el AT 11 SR i !
% eftegare 11 6 )
€} Bothassumption [and 1 D) Assumplion [ i implicit.
are implicit. el SR LT
TRTFATT 1T g
il &= T E

400 Statement / FA

Travelling by meizo in Delhi is moce convenient and
economical,

Faralt 3T g I T e ik g i B

#

Assumptions | TETGHE

L Other modes of transport are not availshle,

sfraget & 30 AT ST AR 5

1. Metro services are reasonably good

A2 2 e A e

B) Meither InorITare
implicit.
FIATFE 0T

D) Omly Assumption [ s
iriplicil,

Fare WagETE 1 EE

A) Only Assumption 1is
imgplicit.
e W 1 R

€) Both Tand 11 are implicit.

1307 1 St | g

41} [n-a class of 43, Neha's rank is 15® from first, what &5 her
rank from the Jast?

45 gt i TR A AT A A L5 d e T, |
ST T 3 I T s gy

A] 30 B) 1
c) 3 D} 31

42) If +mezans + , + maans x , and x means + , then

following will bea:
oy e Fr g « BT ST e a A+
& 7 P ot w8,
a4 +5x 3 =4
Ay 128 B} 1ai
C) i3 Dy 44
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Part - | Lenaral Intalllganss AT ey i

A3) - Acword ig repeesented by anly sbe et of reohers as mven i | 46) Which arewer figure will complete the pacters in the guestion
any ome of the altamotives, The sets of numbers giver n e fgure?
alleratives are represenbed by two classes of alphabets & @ FA ST ST T3 TR i uiEey B S A
i matrices v below The cobums and rows of Maknix |
are numbered trom O to 4 2nd that of Matnx | are numbcred
Frarm & 80 9. A letter from these matrices can ba sopresentied
Frsl &y its o and nest by e column, cg, A" cen be
represenies] by 03,04 e, aml 17 can e npueseated by
S5 et Similary, you keve foidenei Py the set G the word
HRIDE'

TE g FaE T AUA-EAE g gem o i - e
S B STt & F T v # T e B Bk S ‘ 154

# BT T HEEey et & oa Tl s s o 5 I i
¥, o B ol fam e o) eyl A B anemg 1 F ) e o

Fres # otk B wwer o de F & ol oA

¥R [ W ST 6| I N HOR HMT W OTE 4T} Idcntify the cinpram that best represeats the relationship
aeapag classes given balow:

T 6 oy i T A T S0 S i o Achlztes, Sprintess, Mazathon ruenee
T B FEEer F RBreoacwr 03,04 30Ty T gafn o vt e = o B o et & e wt T
W OHEH E A U FY sess W EARn e v AT

wwar B sl Aoy @ s v & Rew e BRJDE‘ ﬁrrnﬁ'r A el e, #{W«fd‘sa%mm
T T TR S aganneT

m‘ w 9 @

o}

48) A plece of paper iz folded and punched as showe below in
the question fignres. From the given answer fgures, Indicane
biovwr it will appear when opened.

A e snebrel & R Hegmn avana i Ay des)

A} 96,103, 75,67, 22 B} 35,573,228
©} 96,01, 75, %35, 17 B} 55,2!,57, 86,1 i et ¥ e A R e 3y e Rard b
pre
2]
ol
Question Nos.44 o 45 e Sro 8 Bl
TE EET 44 & 45 W {} =l
Directions / B Arange the following words as per -
arder in the dicionary. %g = | | %E | =
Eriiiae st wF ey & By av 55 & aEeEw Fato B ¢ cal e oo jo Fee
fosh ol [ 1GR9 oo a0
: 88 ¥ || 88 | "8 |
£4) 1 Versicws 2 Wiacher A) B) ) oy
1. Worles A Valuminry
Al 2405 B} 4132 49) Which ome ol the (dlowing s waler mage  of
C} 1423 B} 3,142 "COMMISSION"?
"COMMISSION” ¥ Tev 39 & wiv o vinTees
48] 1. Almolate I Abewsive 3. Absorption AT
iRy oy MDSSIAADT COMMIZZION COMNIZRION HoIEanman
A} 251,34 Bl 345721 A) B) ) 1]}
€} 523,14 D} 532,134
TR TRART 5 PO
___Part - |- General intalligence W < | A g
a0) I.;T"iﬂd the wrong mumber in the given series?
* T g o e g Ean
L5, 25, 300, 39, 45
A) I B) 15
gy 30 o) 3@

Page 6




Parl - 11 Erglish Language

W - i i A

Fehk ek doh i Aok

Part - ll; English Language

Question Nos.51 to 54
Directions ; Oul of (fe four alternalives, choose the ane
which can be substituted for the glven wordsSenfences
and indicate it by hlackaning the appropdate circle in the
Arewar Sheet

51) Snbn;ijsj.;i_n_ajt 1 all that happens as inevitable.

A) Fatalism B} Pragmotism
C) Dessimism D} Superstition

52) A person wiho s easly deceived o tricked.

A) Trickaer B) Trouhle
C) Tangible D} Caullible
53) Lasting for a very shor time.

A) Friable B} Ephemeral
C) Metronimic | D) Etermal

94} Rules governing socially acceptabls hehaviour.

A) Eliquette B} Polileness
C) Formality 2]} Be]'.mi_-:m:
Question Nos.55 to 56

Directions ; A sanlence has beern giver: in Direct?
Indirsct. Out of the four sitermativas suggesied, select
the one which best exprasses the same sertence
Indfirect/Trect and mark yowr answar in the Answear
Sheet.

55) 1 said to him, "Do you definitely need the suit next week®

A) Tagked him if ke definitely B) 1asked him ifhe needed
aeeded the suit (e the suit the next week.
following week,

C) Tasked him if he definitely D) 1 asked him if definitzly
need the suit the following R needed the suit the rext
wiesek, week, ?

56) Meera's mn_lher toold her ot 1o forget o buy the milk.

A) Meera's mother reminded  B) Meera's mother said o
her, "Don't forget to buy her, "You must buy the

the milk." milk."
C) Meera was told by her D) Meera's mother said
mather " Buoy the mils." "Remember o buy the
milknll

Question Nos.57 to 66

Directions : in the following passage some of the words
have been leff oul, Read the passage caralully amd
choose fha comact anewer fo sach question aut of the
four alternative anda il in the blanks,

1T baodies of our solar system
M1 & lelescope, il is only IV whe can W the depths of
muter space. It is reported that they have seen _ V1 galaxies,
starataking WIT  and VI . and 'bleck holes', They say
that the deeper they look X the universe, the more they
krow X the universs originated.

5T)

A) (1) reach B) (I} ohserve -

C} (1) lock D) (1) find
58)

A) (10 heaven B) (1) beavy
+C) (Y heavier D) (I besvenly
59)

A) (1) by B) (L] through

C) (110} with o) (0T et
60)

A) TV sstrenomers B) (IV) astronoiny

C) (V) astrology D) (1Y) astrologers
&1)

A) (V) viewed B) (V) vizws

C) [V overview D [V vigw
62)

A} (VT) shine B) (V1) snnning

C) (VL) shunned D) (V) stun
63)

A} (VID born B) (VI borre

Ch (VIL) birth D) (VII) berth
64)

A) (VI die B) [(VIIT} died

C} (VI dyeing D) (VI dying
65)

A) (IX) im0 B) (D) at
C}) (DX shrough D) (IX)on
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Pasi - Il: English Langusge

ST - |I; st v

86)
A) (K whe B) (X)) where
C) (X how D} X)) whan

Question Nos.67 fo T0
Directions : Four alfemativaes are given for the
IgiomdPhrase wdarined. Choose the ateraativa wiieh
besi axpresses the meaning of the ldiom'Fhrase and
mark it i fhe Answer Sheef

67) ASscred Cow
A} a person never Lo be B} a suntly person
critscised

C) & very religious person D} ahelpful person

68) Toshun evil company.

A) To kick out evil company.
C) Toput off evil company.

B} To give up evil company.
D) Tolet loese evil company.

89) He hos made a dog's breaktaat of these sccounts.

A} Atotal mess. B) A breakfast for the doga.
C) An acourate SUMMary, Dy A breakfas being served
by the dog=,

70} You will be reminded of the seamy side of life if you visit the
shurn fonements.
A} the sofler aspects
G} the pleasanier aspecls

B) the impleasant sspects
D} the gentler sepeats

Question Nos.T1 to T4
Directions : Senfences are ghvan with bianks fo be filled
in with an sppropriale wordis). Four aiternatives are
suggesied for each question, Choase the correct
atternative out of the four and indicate it by biackening
the appropriate circle in the Answer Sheet.

T4} This house 1en rooms.

A) consisted with B) consistaf

C) consists of D) consizis by
T2) Have youeven the walf cry?

A) heerd B) heard of

C) hearout D) hear
T3) Adfreen that the ‘weather was very pleasant that day.
A} suppgested B) arzued

€} snnounced D) remarked

T4} Dvirs Hall was propared to exensc the scientist's strange habita
amd lemper.

Questicn Nos.75 fo 78
Directions : Choose the word opposite in meaning fo i
givien Word and mank it in the Answer Sheel,
75} et
&) legal B} correct
C) approved D} nohle
T6) Demand
A} supply B} claim
G} request D} petition
77} Descent
A)  dizcem B) azcent
C) dissent 0y assent
T8) ™otariows
A} prominent B) mtamous
C) honourablc O} reputed
Orestlon Nos. 79 fo B2

Dhirections : Four words are given in each guestion, ouf
of wiich anly one word is corectly spell. Find the
comectly spelt word and mark your answar in fthe Answer
Shaet.

79)

A) prediliction B} predilection
C) predalection D) prdilection
§0)

Al accumulaty B} ccummulate
C) accumuliate D} secummulate
81)

A} restaurent B] resmzrant
C) restuarent D) restnurant
82)

A) manoceuvre B) manouvre
C) manuvere 0} manouevr

Question Nos,B3 to B
Directions : A senfence / a parf of the sentence is
wnclerlined. Balow are ghvan altermatives fo the
undaringd part which may improve the senfznce.
Choose the correct altermative. In case no improvermen!

_ A Srritate By irae iz needed choose “No Improvement”.,
) irntable D} irritation
BFZ015 | 3443448 F] ERET]
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A = [ arrFT AT

Part - Il: English Language

13) Rani has completed her graduation from a reputed university
last yeur.

A} enmpleted
C) was completed

B} No Improvement
D} had been completed

84) The terrorist as well as his accomplices wes killed in the
ETCOUNTET. ey

A} was being killed

C) Mo Improvement

B} were killed
D) hove been killed

B5) The Councillor behaves af._ifhﬁ is the Chief Minister.

A} has been B) were
) NolImprovement D} was
BE&) ite of he is oy senior.
A) He s rmy senior, in B} He iz my aomior in regard

keeping with his age, of his age.
C) Nolmprovernen! D} Inrespect of age, he s my
SETIOE.
Question Nos.BT to 30

tions ;| The 18f and the jas! part of the senfence
are numbered 1 and & The reat of the sentence iz spilt is|
into four parts and named PO.R & 5. Thase fowr parls
not given in their proper ofder, Read the senfencs
and find ouf which of the four combinations is cormacl.
Then find the correct answer and indicate i in the
Ariswer Sheef,

BT) 1. Evervone
P. the case calmly
Q. acknowledges
R who kevowns you
5. when he considers
6. that vou have been wronged.

A} PSOR B} QRSP
C} skPr} D} RSP

88} 1. Itis those pood warks
P. that lead to peck performance
Q. wiich we do with passion
R, our understanding of cur purpose
%, and which come 1o reflect

6. 1n this hife.
A) PROS B) QPSR
C) QsREE D} SRQP

89) 1.1ama self-confissed wehnophobe.
P. | believe that compuier is respomsible for the dying of the
art of conversation.
(1.1 have come 1o hate teehpology and the way it dominates
every aspect ol Tifk.
I, For many, it has becoms: the most important objecs both in
home and at the workgplace.
&, One of the worst offenders is the computer,
&, Small wonder then, that 1 have managed to kKeep this
ubigquitois machine our of my home,

A) PORS B) OQSRP
C) RPSQ D) SRPQ

890) 1. Moisturisers for the face
Pooas vily ones may block
Q. in greater cotcentration om the face
K. the oil glands found
5. chould be chosen carefully.
6., and cause pimple £ acne to break out,

A) SEPO B) S0PR
C} SFRQ D) SPOR

Quastion Nos.91 fo 94
Directions : Some parts of the sentances have ermors
and soma are doract. Find out which parf of a sarilence
has an emor and blacken the circle comesponding fo the
approphiade correct option. If a sentenca is free from
errar, blacken fhe circle comespanding fo ‘No Errer”
option in the Answar Sheet,

@1) Scientist now hope that cloning can  succassfully e
conducted in human beimgs in the nesr futre.

A) human beings in the ncar B)  can successfully be

firture. conducted in
C) Scientist pow hope that D) Mo Error
closing

92) When one takes great nisks they must be prepared for great
lmsses. r

A} When one tmkes preat risks B) Mo Error
C) they must be prepared D) forgrest losses.

93) What delicious Navewr these mangoes have !
A) have ! B) What delicious
C} Havour these mangnes D) Mo Ereor

94) They had to put of the garden party becmse of the hewvy

Fain.
A} becavse of the heavy ram.  B) Mo Error
C) They had to D) putaf the garden party
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Question Nos.95 fo 88
Directions : Out of the four afsmatives, choose the ong
which best expresses the meaning of the given word and
riark i in e Answer Sheet,

85) WVocation
&) virtue B} holiday
C) breskup D) ocoupation
96) Limpid
A) ruffled B) crippled
C) Topaided D) clear
97) Merpge
A} blend B) mes
C) mixfure D) contact
98) Gourmer
A} fusgy B] constant
C) pistronume D) praise

Question Nos.99 to 100
Directions : A sentence has been given in
clive'Passive Voloce, Dut of the four aliernatives
suggasted, salect fhe ane which best expresses the
zama sanfancs in PassivasActive Valoe and mark yvour
answer in the Answer Sheet,

99) Pleaze close the door.
A) Please be the door closed B} Let the door be closed by

by yewn. R
C) You pleasc elose the dnor. O)  You close the door
srourself.

100} We must take care of our parents.
A} Our parents will be taken B) Our parents are taken care

carc of by us. of by us.
G) Orur parents must be cared D) Our parents hod been
for by us, taken care of by ws.

Page 10




Part - |ll: Cheantitative Sotitude

A - ik #wwEE aher

Ak A i

Part - lll: Quantitative Aptitude

b 0 O e e i

101) In  AABC, SB=60F, and 2C=40% ; A} and AE ane
respectively the bisactor of ZA and perpendiculzr on BC.
The measuzs of £ EAD iz
AARC #, sBH=607, BT £C=10% AD HIL AE ®aaL 2A

¥ girwers #¥K BC WA E | JEAD SRS R
A) o B} 1°
c) 1" o) 10

102) The average of 13 resu’ts is 70, The average of first seven s
635 and that of theTast seven is 75, the seventh nesull s

13 oferat wr stes 70 F o EE = aiEa s B
Hferm w75 8w ST e

A) 0 B) 705
C) of D} &7

103) A contractor was engaged 10 construct & road in 16 days,
After working for 12 days with 20 labours it was found that

only ErIIE T of the road had been constructed, To complere the

work in stipulated time (ke number of extra labouss reguired
i%

T SRR 16 B # R T wEe F BT g
mwzdmaﬁm-umrmmaqn
T v T #) FaEw s wsw & o Wi & e
gry & 75 O we F B Bed st s
#1 3rEreTEer gl

A) 12
c) 1%

B) 10

D} 16 1

M) If p=- 012, g =000 & r= 0015 then the comet
Aelationship among he thres 3s:

o p=- 0,12, g =-0.01 3 r=-0.013, T F S e
Al g=p>r B} prq=r
C] p>r>g D} pareq

Question Nos.105 o 108

P wEaT 105 # 108 @
Directions / A& The Expenditure of a family in a
meanth ig repregented by a Pie-chart. Read it and answsr
fhe guestions
R gRET & ENET S WEwe & g i

EFET HtmaE #ET H e a s e

105} The ratio of the amount speat om food and clothes?
siterer AT ot ow T o o T o e A

A) 2:5 B) 4:1

C) 4:5 D) §:l

106) The % moncy spent on food compared o house rent 15 by?
Fe e 1 o 7 5 W TR 4 T wm oy

w5

A) 12 5% B) Mone of te aptions
raw Beet A &
1§ wTé

C) 25% D) ¥

107} The total money spent on clothes and miscellancous items

Arc.

=t S Ay aEt oy ww et iR e
A) None of the opiions B) ¥ 3600

ooy BEe

i arft
C) Fono Dy ¥ 2004
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FT - I Fmm wfer

108) 1f the toral amonnt spent i5 F 7,200 Find the amount spenl on
food?
Tt wE I i 7200 § A HieE T Ed
NI B T 72

A) 23000
C) 6000

B) T as00
0y T 1500

109) 1ra=45-47 andb=43+ 42 , then the value of

e e 3-47
al + bt s -
h =
oa= 3.2 T b-diedz, @
PEES JidT
al~+hd T A S AT
a
&) 97 B) 930
c) 1030 o) 1025

Question Nos.110 fo 114
7 FEar 10 FildT=

Directions / 4 Study the following bar graph and

answer the questians.

[FRraiET @ O a7 ataTe Star v e 5T
Irav Sy

B
o
4]
50
40
30
20

10

shrei 1 STems 10000 =Y )

o

Production of Femilie r{in 10000 tonnes)

1995 1996 1997 1998 1999 2000 2001 2002

YEARS

110} The number of years, the production of ferilizers was more
than averape production of the given years is:

Tt @, 34Ta! o Seenee Tpw e @t & A Temea
& ide e

A) 2 B) !
C) 3 D) 4

141} The percentage increase in production of fertilizers i 20002
compared to that in 1995 is:

2007 ¥ TETET & earee & 1995 7 3oaEs & gelar it

B afe g e
A) 200% B) 150%
€) 220% D) 240%

112) The percentage decling in the production of fertilizers from

1997 to 1998 s
1997 91 1995 T S5 & STEA A FRE QT g
BaT?

A} 27.5% B) 28%

C) 6% D) 3%

113) The average production of 1996 and 1997 is exactly equal to
the avesagre production of the years?

1996 #1997 F1 AT Ieoee B o F e
e & Fepe ST w2

Lom 1993 and ¢ 31T 2000
D) 1995 and /3ftz 1999

A) 3000 and /3 2001
C) 1095 ane / 3T 2000

114) The percentage increase in production as compared Lo
Previons Year is maximum in year;
T I T R g I Wi g R

yitwam [
A) 1930 B) 1996
C) 197 D} 2002

118) 5t tor non-zoro x, 22 - 4x - 1= 0 the value of
x| i
%
i AT AT, woxd-dx- =0, 70
xr L A = #m
x

A} 10
c) 12

B) ¢
o) 1%

118) The length of pvo paralle] sides of & trapeziom are 15 ciand
20 cm. If its area 15 175 sqem, then its height is:

T FAEE 1 & HHTET Hant f FEE FAE 15 em
T 20 cm B ofE sEET dwwe s S S R S Ty
TS Teheistl WY

A) joom s B
C) 25 cms B9

B) 15em /R
D} 2 em /&
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W | FTeE ey

M7 A hermspherical bow! has mernal radivs of & cm, The
internal surface asea would e ke T =1,14)

TR 74T FTATETY T Y T S 6o B FIETE
g P PR ERT AT [1=1.14)

A} yo0 eontar Bl 260,75 cm2rireir
C) 125 et D) 22508 e

118} A imin 13m long pesses & km o swone i 30 secorads and
ancther fram of the sime length travelling v opposite
direction in 10 seconds. The speed of the second tradn is:

e T TR IS T S e g ik A
e ¥ 3 P R 2 3t e et & g Ay
EEd TEeer 10 #%E & T E g el & o

et i )
A} 125 knike B) 25 kmhr :
125 T reren 25 frelr eimn
C} 90 kmihr D) 75 kmihr
00 TERHT AHEr 75 Taradr verEr

FA99) B water is Freered to hecome ice, its volume is increased by
flﬂ'h. then if the jee is melled to water again, its vodume wdll
be decreased by
g = T & TR O R T A R o e
T 0% 4% SR, T ol ek ot e b

T areT JTe & I AOa haAT g ST

A) % B) g, y
2
G} %% D} g1,
u
120) The simplified vatue of following is:
FeTafm = e T T i
(mr:ﬁﬂ;ab!r:*} 10 b
15 7
A) g&?w B} 1attde™
' ]
i jz‘h"’n‘ D} Gahte?
10 Lo

121} A rumber of boys raised ¥ 12,544 for a famine fund, each

boy has given a5 many rupees as there wene boys. The
rumiber of bovs was:

oo i el 1 12,544 ) 9
+F e e Sy vy g o) wrent o s v
W) 122 B 132

122) The value of % in the equation
tan? I - cos® [1= x sin [T cos [Tdan 11 is:
i

3 4 4 3
TAFTVT tan? [] - eos® =« 3in [ cos I tan 1
a 1 4 4 3
Hx 57 AT F
A B} 33
2 4
o) 2 o 1
e i3

123) ABCD 5 g sguare. Drew o tmogle QBC on side BC
considering BC as base and draw 8 triangle PAC on AC as its
base such that AQBC - APAC,

Then Ares of A QBC is equal to:
Area of A PAC

| ABCD TR 79 B #57 BC ¥ WU AW BC W P

QBC #ET 3T AC 9T 3 3T AR P PAC
T TR AQRC -~ APAC BT

A QBC =7 9190 FREE s g
ATAC & BrIFEe
A) I B) L
1 3
C) L D)
2 1

124} The curcent ages of Sonali and Maorali are in the ratio 5 @ 3.
Five years from nen, their ages will be in the ratio 10 = 7
Then, Monali's current age 15:

Frelt 3 FitwTely i T 1 3 3 3o A B
#wﬁmaﬂﬁrm 10 7 % segee # g s

HeT St TER T I R
A % years | TH B) Eﬁ}rca.rn-fﬂ"ﬁ'
€ ¥ vemirs | T o) 5 years / TF

125) The compound mibzrest on !|_._!Eluﬁ1; ] rrmnﬂ'lg at Z{HE per

annur, interest bamg E?_T-_“E i l-eir-ib
212000 5T 20 % ToEs € 2T 7T 9 A W TR o,

TETET HTET O = Y R T e o freer g

¢) 12 D) 102

A) 71750 B) 7189150
C) T2136.40 Dy % 2089.70)
126) Value of the expression:
et e s s Fr iy
1+ 2 sin 60° cos 607 + 1 - 2 sin 607 cos 607
sin 607 + cog G0 sin 60F - cos 607
A0 B) 2
C) 3 D} 243
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wn - B e gl

| 2T) 1f sin & + eos (=3 then the value of sin *& s
sim & - pos 6
ATE sin @ + ¢os € = 3 AT sin 5 T A FTEET
sin & - cos 9

A4 B)

oy 1

5

o

i Fad o lie

128) 1 sin 2@ = ¥3_then (e vilue 07 sin 36 iz cqual to:

2
(Take 07 < 7.2 907 )
T sin 2@ = 43 T sin 36 F A SRS ST AR
2
(FATST (0 < 0 = 07 )
A) 0 B} 3
3
= o) L
&

129) The vedume of the largest vight cizoular cone that can Be cut
out of a cube of edge Tom?
feseli=27)
TH oA wY TaE 6% T yaae T3y eew T
fem T T A O & F SR S wE
=27 &

Bl 1) om /B
DV o g o AR

A) 13.5c0 e
€} 147 6% em? ) WD

¥30) Twn positive whole numbers are such that the sum of the first
and fwvice the second number is 8 and their difference is 2.
The numbers are:

&7 T e S W T e day H gl
gl g 1 2 3R 3w afert 2 ) e
Flwrata dr

A} 15
C) 35

By 6.4
D) 42

131) The speed of a car is 54 kre/hr. What 15 ifs speed m misec?
R L AT 54 TR B S avfer #LAL A R
g

A) 150 mier B) 1944 misec
150 7.4, 19,44 FTH

Gy 1944 misee D) 15 msec
44 LA 15 7T,

132) The inconw of a company increases 20 % per annum. If 105
fipoome is F26 68,000 10 the veur 2002, thew 1ts inecane in the
vear 20100was:
T A A 20 v A A A wel ) ofd gueh s
20123 T26,64,000 2 A ad 2010 3 FEasr A

e p—— S

A) 7 2320.000 B) ¥ 2555000
B} 7 14,50,000 D) 7 2120000
= .

133) The distance hetwesn centees of two circles of radii 3 em and
fcm is 12 o IF the poinis of comact of & direst common
fangent to the circles are P and O, then the length of the ling
sagment PO (5

3em M B F T awr o o F S0 F dw
ﬁﬁw:lgﬁﬁﬁ%&ﬁﬁﬁﬁ*
et Pig 23t 4,34 Yar s g & sk w
A
A 11.9cm /2
C) 12 .om )

BY 115 cm/ B0
o) 1158 con  HEY

134) A shopkreper marks his goods 20 % higher than the ot
price and allows o discount of 3%, The percentuge of his
profit is;

U GERIRTAIY el SR 7 ARTA #3120 u, FER

e 3t el 3T 3 5% ) O Al B3 e
sferr 4 Y

A) 14
C] 1%

B) 15%
D) 20%

135) [n AABC, AB = BU=K, AL —+2 K, then AABC is a:
AABCE AB = BO=K, AC=142 K #AT AABC FaTE

A} Tsosceles trangle B) Righe-angled triangle /

C) Lguilateral trangle / D) Right isosceles riangle /
FR T T AT

]l'l:!ﬁ] The smallest five digit number which is divisible by 12,18

and 2t is:
T 3 AT dE A S Ay Al 12,18 A2l #
Grii=s il -

A) 50321
C) 0256
-"_.__n—I

B) 10224

g}“‘musﬂ
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137) By sclling an article for {:‘;ﬂl, 1 lovzee 20%, For whul amount,
sholed Tsell il o gain 2007 =

U g 450 A A o AR 2 A gl 20%
T T e Fie o o 53 AT niEr & e

A) 7490 B) T470
C) T 562.50 D) ZT67s

138} In an exarn the sum of the scores of A and B is 120, that of B
and C 15 130 and thet of C and A is 140, Then the score of O
o

TROEr A AMTE % et @ ey o e svosr
PogFmcstta & 0 a o F iE e

A) 65 B} 60
) 70 D} 75

139} If @ + B = 90" then the expreasion
wng + sinfa-sin? i ois equal to ;

taf i
Ifﬁ hr _i3 TE’IIJG1 ETI
lng + sind o+t R oTET @
tan
A} sec? i B) tanfp
C) sec?o D) tan?e

140) Too circles of radii 5 cm and 3em touch externally, then the
ratic in which the direct common tangent to the circles
divides extemally the line joining the centers of the circles is:

Sem3Mem Rew g A T AT A o we 2
o Tt o s Sre arE YT g F S A
Siger Al rar S A # eE e & et
Fr

A) 25:15
C) 1:5

B) 15:25
o) 5:3

141} & frvit sefler buys oranges at the rate of €10 per dozen and
sells at the rate of T12 per dozen. His gain percent is:

T S FHEATTI0 9 2de £ g7 ¥ Fau wiear §
M 21z oy g5 Y 27 A e &) TEww A
wiaere &= &7

A) 15% B} 20%
€) gly D} 12%
3

142) The outer circumfzrence of 8 eiroular rece-wrack is 528 metre,
The trzck is everywhere 14 metre wide Uost of levelling the
track al the mte of T 10 per sg. metre is:

U geoehi afs T anedy ufiiir s de i vw mw
FET 4 ARTADE T 10 SRty frar o oy =

FFEAW et o wETE Far gt
A) ¥ 77560 B} T 76760
€} Fa6760 D) 767760

R 1+ P+ LB = 3025, then the value of

Pad? + o+ 2000
e 12+ 2= . +10° - 3025, 7
Bdt 5, 4P FTATFAERTT
A) SOR B) 12100
' C) 24200 Dy 7590
@'i‘hc surtace arca of a sphere is 616 em®. The volime of the
| sphers would be: =
UF A F AAE SFFT 516 em? ) 7 1 e
AT
A} 2100 cm? B) 2500 e
€ a3t o D) 12253 oo
3 5

—

145) A vessel comtains &0 litres of milke 12 lire of milk taken out
from it and replaced by water, Then agem from mixmre, 12
litres are again taken ot and replaced by water. The ratio of
milk and water i the resuliant misture iz

U & A 60 diex qu ¥ IWE 12 dew gy
TorTea qTr 8T o o ) TR # SE e &
& 12 ey gy Pty o 5T B o
TR B A g 3 Ol & s = Eeme

-
A) 16:10 B) 9:5
c) 15:10 D) 16:9

148) If (2a-1F 1 {4b=3)* + (do+5)% = 0 then e value of
al+ b¥+c? - Jabe is;
a* + b+ o?

TR (Za-1)F + (4b-307 + (dctSiE=0 &

Bk b 4 - Sphe SR AT T ST
;5+|:,2+¢2

A) |3 B} 43
& ®

€) 53 D) O
8
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147) A house was snldfnr?yl:hjr giving a discount of 1%, then the

list price was: ik
TR HETE 1% 7 AT Ty A A A T e
Hpw L
A) 100y B) 100x
1000 x 100- % 4
C) 1My D) 100y I}
1-x oo g
100 I

148) fa+ 1 = land b+ 1 =]
b C
them o= is equal to;
a

Tra+ 1 =1HTh+ 1 =1

-3 c

e+ 1 Fros atet g
A

A) 0 B}
c) 2 D)

O S

148) IF 20 women van lay a road of length 100m in 10 days. 10
women can lay the same road of kength 59m in:

T 20 AT Looeh. o 10 T o feor e o
Lo AfE=TT 50 A v e e R o i
A) 20 days i B B) 10 davs/ BT
€} 5 days /P D) 15 dave / e

130} g31/3 4, of 290 is cqual to 60% of ?
i 83w Bt Eeou F R D

A) Tis B) 125
cl Tiz D} T1z2
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161) Whose arory did Alexander, the Greek raler confiont on the
banks of the river Jhelum?

e & =t i v Rder S o e Al A
o T T

A) Ambi /T B} C'lba.lld.ra:;‘rug:a Maurya
&) Porus /e D} Dhanananda ) Gemeig

132) The most suitablc 50i] for the production of cotton is?
FATH % Icdles & v a=g s i seadrd

A) Black lavs scil B) Losmy soil

ey Avar g
€} Well draired sail D) Alluvial sodl
oot S i HE Fer fdt
153) The largest producer of Lignits in India is;
R A o o Fed I SR n R
Al Kerala ) ¥T B) Rajasihan / ey

D) Gujerat / Ty

€l Tarril Nadu / ATH=TE

154) When was RTT Act enacted in India?

e H e = R AT wa s S

T
A) 15 August 20035 B) 15" Mareh 2004
L5 HEFET 2005 15 3T 2005
C) 15" June 2005 D} 15" July 2005
15 3 20005 15 AT 2005

155) The famous activist Medha Patakar 1s associated with which
movement?

wiE WAl d R A o R st & vy
A) Narmda Bachao Andolan B} Save the Tiger

15T) Sex-ratio is calenlated ps:

FoleTTaToTe = T & fea s

A} Moof females per 1,000 B) Mo of males per 1,000
males in a Country, females in a Country.
AT LT 2309 9 1,000 AR
migmat & e o G5E T EE

€} Mool children per 100 B} Mo of people per 1,000
penple in a Countey children in & Country.

garafafer 1,000 St T # o 1,000 F=at oy
Eim b akred T T

138) Whe hs been named TCC World Cup 2005 Amhassados?
HTEH T TEed Y 2015 FT OFEHET TR AT e

=a_--:n

A) Samath Terun Javesuriva  B) Allan Robert Border

Tetel o AT T I A
C) Sir [ssue Vivian Alexander D) Sachin Tendulker
i e dgae
Y g0 R
et ety
159) Soldering of two metals i possible because of the property
of:
ammmmm FENTEHT
A) Crmosis B} Vizcosity
JIET AT
C) Susfiace tension D) Cohesion
T A HTEA

180 Salactites & Stalagmites form due o the precipitation of
T armeior & sy Hhdtreme it e and
&

A) caci:

€) mgck

B) mgcos
o) Calil

161) Which of the following is a form of sexual reproduction:

AT T M VAT T
C) Preservethewetlands D) Beti Padao Andolan Tt # & a1 e 5

s A S fTaTor & T e A) Fission / Praise B) Fragmentation ! @2

156) Lender of the Last Resort is: T
Mo arr w FrovEraT St b

A) D s s B) Naparp ) s

T &%
€ sersimreds D) punswdm d ds

5005 ) 3445448 18 Fio
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162} Whe wmong the following is not 2 Bhasstanatyem dancer?
ATt & o i Soeegs fr afthe 38 &

A)  Bitara Devi B) Leela Surnson

e &g I #TET
€) Geeta Ramuchandran D) Sonal Mansingh
T AR EaT A=TEE

183) The 75 Constituttonal amendimenl acl is related 107
73wt gate e SR b
B) Foreigr Exchangs / Hgl
EiEr
) rar sty Rl i

A panchayat Haj / TETIT
=

€} Finance Commission /

oo st

164) Ryder Cup is a famous toumament of |

=T =7 TR O & wias eare 27
A} Badminton A3 B) Guiri view
Cl Cricket) frde D) Lawn Tennis / #fe 2fg
165) Kenha MNational Pack 15 lncated in
TR =T O e TR
A) Tamil Nadu B} Eihar
FEweg ErACE
C) Andhra Pradesh Dy Madhwa Pradesh
T W e Ty

168) Who wrote THscovery of India’?
TrEEly 31 FTEeT foret feveh 4

A} Mahatama Gandhi B} Jawshar Lal Nehiu

HETEH] Aty EECCEnrd
C) Bal Gangadlar Tilak 0] AP Abdyl Kalam
AT T e it HegH FATH

167} Wha is the flest woman IPS officer in India?

W 3 e i yrdew it sk
A sarcjin Naide T B Kiran Bedi / B aay
EEIEE |
c} Bachendn Pal ."m D} Tndir Gmdhi_fgiaq] ??Eﬁ'
qrd

168) Perfecily inclastic demand is equal 1o

o ww T A A AR e e e
A Oine ¢ Ty B) Zoro ! AFET
C) Tnfinite / FEITAT o Greater than coe / TR 3
yitew

169) In which region of eleciromagnetic speetrum Joes the Lyman

series of hydrogen atomm lie?

W aggd Y o # eeEes W S et

Aty AT 7
Al gy )at
€} visible /2T

B) itravioler / Srovifory
B) fmred ! aremae

170) Which of the Following is the dght expansion of ILO?

Lo & =t fer e A a e

A} Imemationz] Labour B] ludizn Legal Onentation
Organizasion §femr e sy
SELAYTH vET
MR

C) Intervarional Luw and D) [mer-State Lawiul
Cirder Drdimance
STyt AT TR T ErymT whpe A

171) Which state of Indin has maeds rain water hoarvesting

compulsory for &l houses”
R & B a7 o o e e we o e aarer

7
A Tail Nodu / AFRATE
c) Haryana | &Fmom

Bl pujan ¢ o
B} Maharashira / AEHTSE

172] An electrochemical cell which i used a2 a source of direct

elegtrical curvent &t éonstant voltage under standard conditions
is vallad a:

TR R % va deea W R Regaum kv wte &
w3 e Faeger TRTE e AW o i R e

A) Power lmnsmimr.-‘ﬁzﬂﬂ B) Haftery ¢ ST
Fhafaer

€} Generator ! SET D} Uninterrupred power

supplv(UPS) / 3
e amg i
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AT - I T T

173) In 20010 a nzwspapzr published is 70,0007 issue, Which was
the newspaper!
HOU0 F T TR OF ST 7000057 M Wi 5 oY

F=.7 HETEE 97 17

AY The Oxford Gazette B) The Washington Post

Z ARSI g aifies e
)} The Times of Londen D} The Hindustan Times
& ZFH HE e 7 T e

174) Impeachmment Froceedings agemst the President for Violation
of the Constiiution can be intiated m:

afur ¥ IeEae F T et & S AT
e T
A} The Supreme Court !
TEOOH T

B) e Rapva Sabha / g

AT
C) ELither House of Pacdiment DV prp ok Sabha @ 0 990

IHEE F R ArEA A
175) Whe built the "Purena Cruilla™?

Al Bihar / |ET
C) Aurgngzeb ! HHET S

B) Shocshah - S1anE
D) Akbar/ 3rFaT

17E) The epermng ceremony of the 1CC Cricket World Cup 2015
was held on 12 February 2005 in which citics of MNew
Fealand and Australia?

FrEtEr BT EeE e 2015 T SIS HeiE 12
RTEAT 2015 ST ralE A afteeferer & fre arpi o

A} Christchurch and B) Hemilton and Perth

Melbourne e T ad
FEread A feEe

C) Napier and Adelaide D} Wellington and Sydney
AT 3ty oiEse AfemTe T Tase

ATT) A light wave is incident over a plane surface with velocity X,
After reflection the velocity becomes:

3T X W TR TH T T T S T O

SATEA & e 49 e BT S i
A) x B) 2«
C) = 0} =

i z

178) The five key mdicators of global climate change of our
planet are:

sy e s T3 Awarg ofiEaa & oiw Ageagn] aas
FET
A) Sen-level, Rising

temperatres, Kamfill,
Mitrogen and Aric Sca icc

T OH, Tacl gHT
T, AT, AT
Hir e Aadl ak

Artic Seq ice, Carbon
dioxide, Glohal

B) Mone of the aptions

fer o fedt & 2
F A

C) D) Antariic Sea

iee, Cheygen, Rainfall,
femperanne, Sea level and Droveght and Sea level

Land 1e. mWaﬁ;’
- MiEoEE, B
AHT, HEg 6, ST
i

WraEmE AT

179} In operating svstem, Round Robin Scheduling means:
Jiryiee e # 3E e degide & e ared By

A} Akind ol scheduling B] A process allocation

v T SR potey
STE TR e ST
€} Amemory allacation D) HRepettion policy
policy Yo o
FHANY TR A

180} The anrca reserved for the welfare of wild 1ife is called?
T S I T e W GTT AT 3 T S i
B) Botumicul perden s
AT FETE
D} atanal Park / TS
FEAE

Al Genctusry { THERUY

c) Forest / 3=

181) Where did Chandragupts Maurya spent his last days?
g HO A MR WA T FE s e

A} Thenesawar ¢ TERET B} Kanchi ) #ier
C) Parali ; 0} Smvenehelogola ¢
putra  SETAYT
ATUTEETITEAT

182) Projoet tigor programme was inneherd i

eI U= S fovar and erw Fam v 2y

A) 1054 B} 1573
C) 1975 o) 1971
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W« (W AT W

'33} The Matignal Gireen: Tribumal deals wilh cases relating to?
ST 1T FgaaeTel R T e A = e £

A) Crimingl offenscs
T A

€} Civil cases
TR g

B} Issizes relating Lo

protection and
conservation of historical
OIS,

HiTE T
i e

e

D) Environmental protoction
and conservation of
Torests.
ofEeT ST AN @R
T

1B4) Whe was the First Speaker of (he Lok Sabha?
T B TR T il 9

A) K8 Hegde/ Fuw gy Bl

C) Ganesh Vasudav

Mavlankar / T A

EIEEETS

185) FORTRAN is called:
wig F e 7

A} Floppy Translator
€) File Translator

THEH g

Hukum Singh / 5 g
D) MNeelam Sunjiesva Beddy /

B} Formula Translator
BT ZiTET
D) Format Translator
WiHT ZRIEL

186) Which Indian newspaper has the lagest readership?
ToraT ST TR OF % OTEs HeEiie

A} The Malavala Manorama B) Indian Express

& FAT] AT
€} The Hindu

g

StTw TR
D} The Danik Jagren
= 4T FrTer

187) The pas dissolved in water thar makes it bazic 157
ot # el g et e = e et

A} ammonia ¢ YT

C} sulphur dioxide ! HFFT

TE-3iFEE

B hydrogen | T
] carbon dioxide / TR

=5 S

188) The hggest oil apill in world histery took place in the?
a9 eideTa A Fewr 57 O SR w5 an

A} Persian Gulf B} Caspian Sen
R T ETE HFPrad R

C) Meditrrarcan Sca D} South China Sea
HHED T et T Ty

1689) Among the following which country has the highest life
RrTaiEy T4 e far f adifs shee denfier By
A) 8./ 3R B) Switzeriand / FEmEadE
€) Japar { ST D) Denmark / ST

'IEEI} Yellow complexion, Mediom statare, Obligue eye with an
epicanthic fold is the charactemsie fewture ol

e FfawemT i
A} australnids / ST Bl Megroid / draiE
©) Mengotoid/ #ataiae P} Cancosois / FAFERE

191} Chromosorne designation of Tumer syndrome is:
R HART JTe AT T i

A) HArXD B} 4#A+XXY
C) 4da+Xxx D) HA+XYY

182) The redness in atmosphers at Sunrise and Sunser is due to:
geifes s waErea o Fer argHEw A wrfeer e s
W e 7
A) Dispersion of light

B) Scatlering of light

wETe ¥ g T & wE
C) Refraction oflight D) Reticetion of light
¢ ST T T A T
193) Which duy is celebraled as Tnlemationa! Yoga Dey?
FrrsE o Raw R R s S 87
A} April 23 B) Seprember 21
w2 = 21
C) July 21 D) June 21
e 2t A2
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A - [ mree it

194) December 1 is celebrated as:
| SEE o T A T A 57

A} indian Mavy Day / B) UNICEF Day/ qfrEw 2
" Al fGEw
C} Children's Day /@ fmm D) World AIDS Day / Tea

TsH EEw

195) Distant objects are visible as a little ont of focus in this
conditon —
o feufar & gr & i o o geey et e iy
A) hypermetropia B) preshiopia
anf TR g Wemz
C) astigmatism 0) myopio
Tiee S fawe efer o

196) Maximum oxygen is available from:
witos diede Aad saaer inlril

B) Deserts / YA
Phytoplanktons /
qreacHas I

A) Green forests / 3 ST
C) Grass lands / TTE F A D)

197) Which one of the following tribes practices pastoral

Smmilion

T # B e St 9y-awoT F F S
AV poro /3R B} nasai/ wes
C) Pygmics ; Reia D} gskimo / vREEAYT

198) Wha was the frst Secretary General of LLN.GLT

F 11N H A HEratE
A} Kurt Waldheim B) Dag Hammarskjold
T ATFEETH & e
C) Trygve Liz D) U-Thant
SEECEC | T-ue

199) Who is the awthor of Tndica'?
w1 dEE S E

B) Ifiuen Tsang/ T8+ awir

D) Selucas ¢ Freegmar

A) FaHicn / wEawT
C) Megasthanese

b2Fbe i

200} In a reaction of the bype A-B — C+D one could ensure it 1o
be a first order reaction by

ZRT A+ — 1D 1 1A 3 s qara 53 o
a1 St WA # e g e gear

A} Increasing the B) Adding a calyst

concentration of a rcactant e e T T
i = AR
e
C) Increoasing the temperature D) Increasing the
TTHRT ST concentration of 3 product

FoITE T T ST
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